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1 Belgians [12WS.p158] (N=40)

2 Czechs [13WS.p32] (N=105)

3 French [12WS.p229] (N=224)

4 Polish [12WS.p156] (N=99)

5 Portuguese [12WS.p65] (N=111)

6 Spanish [12WS.p104] (N=100)

7 Spanish [12WS.p82] (N=125)

8 Chaouya [15WS.p2] (N=83)

9 Egyptian Copts [Other.psources] (N=40)
10 Metalsa [15WS.p13] (N=89)

11 Moroccans [13WS.p20] (N=98)
12 Tunisians [Other.psources] (N=97)
13 Bashkirs [L6WS.p55] (N=146)

14 Finns BMD [16WS.p39] (N=672)
15 Russians [16WS.p53] (N=207)

16 Tatars [16WS.p54] (N=135)

17 Czech Gypsies [12WS.p23] (N=33)
18 Croatians [12WS.p19] (N=104)

19 Croatians [12WS.p20] (N=106)

20 Greeks [12WS.p165] (N=96)

21 ltalians [12WS.p42] (N=93)

22 ltalians [12WS.p45] (N=99)

23 Pomaki [12WS.p164] (N=100)

24 Sardinians [12WS.p46] (N=80)

25 Slovenians [13WS.p36] (N=100)
26 Punjabi [12WS.p38] (N=51)
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